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Second Term Test - 2022 Grade 12

Physics 1 “Time : 2 Hrs
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e  Answer all the questions.

(1) S unit of luminous intensity,
1) Waber 2) Tesla 3) Candela 4) Bequerrel 5) Farad
--F""F—-F
A boat which is moving at speed V in stationary walter is riden across the river flowing at speed u. Banks of

*(2)
the river are parallel and speed-at-the the-river W, The minimum time taken to cross the river depends,
-

(A) On V. v 4
- PP behweed banleg E
I

(B) Onu o
{C) On W (True statement,
1) Only (A) 2) Only (A) and (B) 3) Only (A) and (C)
4) Only (B)and (C) 5) All (A) (B)and (C)
gy i, , (
(3) Unit of the physical quantity given by dividing force by time, £ _™ LT a
nF - )W 3)Pa HN 5)kg -l
. X o ==l . £ r ., % b e
(4) When a projectilg reaches its maximum height under the gravity, 4" v.=
(A) No acceleration on it. - = i !
(B) Maximum force on it.
(C) It has minimum Kinetic energy.¥
True statement,
1)Only (A) 2)Only (B) 3) Only (C)

4) Only (B) and (C) 5) All(A), (B)and (C)

lined plane, it comes to the bottom within 1s,

top of a smooth inc
n s distance travelled by

(5) When an object is released at rest from the i
lane. It returns back to initial point withi

Pl _—
When this object is projected up along the p
the object in the second case,

1)0.125m 2)025m

nd velocity are D and V. The dime
2) DV? 3) DV
_._..—"""—-.——_

3H05m 4)0.75 m 53)_933

nsion of pressure,

L aDv? 5) VD"

(6) Dimension of density a
1) DV

are moving towards each other at steady velocities.
how they observe are same:

f both as how they observe are same.
are same.

(7) Two children
(A) Relative veé
(B) Magnitudes of mom
(C) magnitude of kinetic energy

True statement, . ) p—

1) Only (A) 5) (A), d (C)

4) Only (B) and (C)
I
e ————



(B) Relationship among acceleration a, time t and displacement S is § = ka*t", Valuesof x and y,
N2 2) 2,1 ) LI 4) 2,2 5) 1,
wran ) 2, ) ) ) 1,12

(5) Addition of two equal vectors is 2R and difference of two equal vectors is R. The angle between two vectors,
1) 30° ©2) 60° 3) 120° 4) 2 Tan''(1/2) 5) 2 Tan'(2)
AApP- —
D (10) Object falling freely under the gravity covers distance hy in first second and distance h; in ast second |1
ha =5h, , what is the total displacement of object? ——
%5 m 2)30m 3)45m 4)55m 5) 60m .
S {

(11) What is the correct variation nf‘momentum, wilh time t, for an object falling freely. \

) [ [ ¥ P&
(12) When intemal diameter and external diameter of a test tube are measured by same vemier caliper, *
A) Fractional errors can be difference. / B g

B) Maximum error can be difference. ¢ . 2
C) Zero error can be difference. o, to Y M
True statement,

1) Only (A) 2) Only (B) 3) Only (C)
4) Only (B) and (C) 5) All (A), (B)and (C)

steady 1 ms 2 5eceleration. After two seconds second bicycle \

t rest and s at
- (13) A bicycle starts its motion at rest ancmove eration. What is the displacement of \

starts at rest from same point follows 1% bicycle at steady 4 ms™ accel
two bicycles, when second bicycle passes the 1. - \

1)16m 2)12m 3)8m 4)4m )2m (o
JPIR A
Jond

vy
'ﬁ"ku
/-?

(14) There are three equal coplaner vectors, sum of those three vectors equals to one of a vector.

A) Two vectors should be perpendicular. ~

B) Two vectors should be parallel. N
C) Addition of two vectors should be greater than other vector. K

True statement,

1) Only (A) 2) Only (B) 3) Only (A) and (B)
4) Only (A) and (C) 5) All (A), (B)and (C)

(15) When anvil touches spindle and when a micrometer screw gu&ge is used to measure diameter of cable
scales are given in figure 1 and 2 respectively. e ) S

i Y
TL. ar?
o-op ,..-— = )
_ — — [ -l o
Di o ,
5 ;azmet:r of the cable,
. mm 2)0.76 mm 3) 0.85 mm 4) 0.86 mm 5) 1.22mm
(16) As shown in figure, a ey
i fon uniform rod is placed in a smooth hemipherical bowl. The center of gravity is,
2 !
T N7
5) E —_—




"

(18) Using two

massless ropes PQ and

QR an object of mass

150kg is hung. Tensions i PQan

A particle of mass m is moving a

d QR respectively,
‘fd 1) 865N, 1700 N 3%
S 2) 800N, 1700 N Haox L
3) 865N, 1730 N &
800N, 1730 N
5)900N, 1730 N so, Rnga -
(s | R—p—
8

—

. 1500
CNg a circular track of mdiu; T al steady spaed. Whnl;?s the correct

variation of workdone with

(19)
W

(B) Depends on distribution of m
(C) Depends on rotating axis.

True.slatf:mcnl,

1 Only (A) and (B)
4) All (A) ,{B]'and (C)

I
(21) On system A and system B two

s/ §

2) Only (B) and ()
5) All are incorreet.

3) Only (A) and (9]

time?
Q,}
W W W “
A W
.-_*.-
o
P {
. t
D] 2) 3) 1) 5)
(20) Moment of inertia of a rotating body. 1
(A) Depends on mass, v , T

masses 3kg and 1kg are by using a uni d, as shown in figure.
On the system A bnth-q]asses are made hy us@@oﬁﬁggﬁmﬁa fﬁ&f%lﬁgﬁfﬁ?m&iu\:& ;rll'c ;i::
What will happen when both masses of both systems are sunk jn wain:r?a 1 i £ 1ad
p——" 1d ¥ g
he ; 3l I 1l %
. Fay 3LxE pay 3-,- L‘%
e
welle e, £ d 20 LY 3
(A) i v
3‘; kg L kg [@ ] kg (B Ikg
[
1) As in equilibrium but left hand side of B goes up. -
2) A s in equilibrium but right hand side of B goes up. : N
3) Bis in equilibrium but left hand side of A goes up.
side of A goes up.

4) B js in equilibrium but right hand
Both A and B are in equilibrium.
. ias

(22) When an oscillator is subjected to oscil

lations under a harmonie force. Resonance oceurs,

(A) When freequency of periodic
(B) When energy of the oscillator

force equals to freequency of oscillator, v
is maximum.

(C) When amplitude of periodic force equal to the amplitude of ascillator, -

True statement,

1) Only (A)
-_E;—Gnly (A)and (B)

2) Only (B)
5) Only (A) and (C)

3) Only (C)




(23} A cricked ball in moving boriroaually spinning in stationary air. The correct siream line diagram around the ]
ball ln,

28) A cyclist of total weight W is moving slong 8 horizontal circle in &

I-

{ ‘—'/_)\'-— well, 5 shown in figure, What is correct foree dingram which shows
Ea e

weight W, normal reaction R and frction F, when he 15 riding his
_\(-f-_ _-\__,f_ ﬁ picycla at minimum velociry?
1) % -—;]\'ef__- '

F ' SR ! .
©- G
> —_—
4) 5 I " "!"w
———
W

) } 3
M) A d:'-t of mass m and radius 7 is rotating a1 constant angular velocity o1 . What should be the angular veloeity 1 4 : "
@' of the system. when the second disk of mass m72 and radius r is placed on initinl disc? =
1) w' =w et =2 Nat =2 Ha' =3 5) wt =2 y
1 — 1 I
. » n - I
25) Weight W s held in equilibrium by applying & horizontl Force P as shown in figure, With the increase ol 6, F
1) Both P and T increase. ! % i 4
1) P decreases but T increnses, : 3)
3} P increases but T decreases. 9 X

4) P remaini unchange. T increascs.
5) P remains unchange. T decrenses.

29) Density of & Liguid is 500kgm® .When some amount of it is mixed with water of density 1000 kgm ' density
of miatire is 600kgm ? What is ratio of volume of liquid and water?

26) A circular nng of damcterd and s straight conductor of fength d ire welded at polnt D and compounid object has. n1:2 Nie ) 2:) Aal 5)1:3
been made The center of gravily of the compound objecl, N ¥ . - .
1 1) O 10) Compound salid object made by using two metallic cylinders is hung by using » light inextensible siring,
H_ A~ - ‘What should be the correet variahon of Falance reading with submerged height |, when object is sunk In water
} B F Sllduluﬁ L P i

4) C i
H 5y D b
P Q .
I 27) Consider following statements. ! !
1y b3}

(A) When the force is acting perpendicular 1o moving direction no work is done by that ?‘ur:l:. *
(B} When the force acting on body is perpendicular to direction.of ncogleration no work is done by that [orve.

(C) If the point of action of force is moving in o block of which is ai resi, no wierk |8 done by that force . R
Truc stalement,
1) Only (A) 2) Only (B) 3) Only (C)
4 d{D COnly (A) and (C
__!_l_hir{ﬂlln () 5) Only (A) and (C) f r ;

3) 4) 5)

a 31)Instananeous position of m transverse wave, moving right is given in the Ngure.
{A) Phase dilference between Pand R is T/, .

(B) Speed ot P and R are maximum but it is minimum a1 Q. v
{C) P.and R are moving towards wave but Q) is st rest.

Trie staicment,
1) Only (A) 2) Only (D) 33 Only (C)
4) Al (A), (8) and (C) =T} All are incorreet




e 32) AB i 3 miform rod of weight 800N and BC is & horizontal cord, AB rod 15 hinge at A a3 it con be rorated
mround A freely. Tension in the BC cord is, :

A AL
1) 20043 5 &
i) poody - u
2 B0V3 3
3) . 3
£ 12003 ‘
00
5 5 4 c
{33) Speed of pendulum bob of simple pendulum at the center of oscillation s Ve, What is the hew'spesd of bob
when the amplitude is doubled without changing the length of string? T=an
n 3 7)2vs 3) Vi 4 5) 4V
o — - Y
(34) As usiml notation , charaeteristic equation of simple harmenic motion is given by o = X |, True
siatement/statehTents,

(A)Acceleration is maximum a amplilude. 1/
(B) Tame period of ascillation T is given by Tng /
(C)When X=0, kinetic energy is maximum.

I)Only (A) "2} Only (I3)
4) Only (B) and (C) 5) AlLA), (B). (C)

3) Only (A)and (D)

_(35) Force F is applicd on & block of mass 2kg placed on rough surface

i ; f 85 shown in figure. 1t is in limiti
equilibrium and cocfficient of static friction 0.5. The normal reaclion o e

e on Lhe block,

DIOVZN  2)20vZ N
320 N 410 N F tashy STk 1 B N
S)40N ‘R

i6) Propeller of a wind mill covers area A , wind flows prependicularto abave arca at's Vin time internal t,
kinetic energy of wind,
NAVig: 2) AV3pe?

4) 1R AVIpr S5} 10 AVt

IT) AB is 2 rod of mass 0.5kg and length ém. Two massea D.1kg and 0.2 kg are hung as shown in the figure, The
rod has bheen hung from its mid paim by a light inextensible string, What should be tension of string and gap
between A and center of gravity if the system remains stalionary,

B2 AVIpE

P

o
13N, 30N 2) 5N, 3.0 M) Fosamdal e o
HEN,I0N) 1) 5N, 32 M G X ’
5y AW, 320 —
L2 "B&) jﬂ# @) 02w
(38) A and B are two blocks placad on a smooih table. What should be the normal reaction berween A and B when

F force is applicd on A?

™ My
A ]
my F m, F m f [ i [
- — z}nﬁn: JJM—:F ‘o Ty
F 4) ?—F s Rtn o F e m;
S - i "y

ontoa converor bel moving horizontally at speed 5 ms ' of rate [0kgs™ . The force should be applied

360N 4) 70N 5) BON

:f — (pk0 ¥

53

% |

—

L

'
1

Harizontal displacements both Nows

I
A and B are two holes on vertical wall of a vesscl, which is filled by wote 1(Cross sectional are of the vessel is

4 [
/ = tjected from A and B are same. Height of the water column in the vesse
high) - it i
1) hi+h 2]2h|+h:
- f-ha 5 Zhith: <
23 By -2he A T
5
which is wound around & i
ject of mminconnmtqﬂumdufmpe, t AT
e ::I L::J;I'n:urr:ent of inertia 1 and radius v, and system is released at rest. What
is the lincar velocity of object afler falling down height h.
N~ h zmgh !Imphr' Jﬁﬁ
) J2gh L) ir:’ 2 3 I+ mr¥ e e mrd ) Ir¥am m

{42) A uniform chain at [ength is placed on a rough horizontal lable us some pertion of chain lies in the table, of

friction is jt. The length of the chain hanging freely is,
L

L —

3) e 4} S}.un

“
--.._Il‘l

L M
'}E ) o
{43) Two rnnslses my and mz are connected 10 a light neatensible string going over a rosgh pulley of mass m and

radius r. (my > my) What is the lincar acceleration of my and my after releasing the system?

2

{my=mglg
(g —mg)4m]|

2my=m,lg

] (ml '"‘l“ﬂ
my 4Ty 4m

2im,=-mplig
(myg#dmyem)

(myemytm)

Hrmy—mighg

—rg)em)

£}

ﬂ‘liﬂlﬂh

(44) Two masses Ikg and Tkg are connected o free ends of a cable which is going over smocth pulley. The
common scceleration and tension in the cable,

1} Ims'. 21 N
2) 15ms' 42N
3} 4ms' 21N G s
4) 3ms!, BN
Jkg Tkg

:ELJ. ms! 42N

(45) Fi=5N, Fp =8N, F3= 3N , ihree forces are applied on a mass placed on & smooth horfzontal surface, if it

travel 3m left, work done on the block by 3 forces? it A AR an
1) 1501 2) 2.401 P T, S
313.01) iy 6.001 ﬂ 7.50]
- . W
Fy

(46) 350 bullets nre fired in one minute at muzzle speed 360 kmh'. What is the power of the gun if mass of m
each bullet is 20g?
1kW 1) 36kW 5) 160 kW

3) 360 kW 4136'W

—

(47) Aliquid is in o u rube as shown in figure. What should be maximum acceleration can be given the u tube

without flowing eut?
1y 1 ms? 2) 1.25 ms?
3) 25ms? 4) 5 ms!
5) 10 ms?

(48) By an electric motor, water is lified 4m up and ejecied a1 speed S my!, 6 m? per minute. Power of the pun

11250

1) 5250 W 1) 4000 W f Ay 1000 W 51500 W

T



it

nal arca of outlet of water 1ap 104 m’.

bl niti i -1, Cross sectio
4 rom a water lap, walcr is ejected at initial velocity 1 ms’!, Cross sectiC oL
o assuming lhrt pressure in the flow remains unchanged and flow 15 steady. What is the cross sectional arca
flow, 0.15m below the tap?
%4{::; 2) 107 mf 1) 0.5 x10* m? 4) 0.2 x10° m? 5) Zero
— of}
(50)  As shown in figure the sysiem is released at rest when spring
stant is 40 Nm™ ; What should

i< not drawn, of the spring con

be the speed of Skg mass, when 2 kg mass starts 10 lift,

1) V2 ms’ 2) 242 ms’! 3)2 ms™ 4) 4y/2 ms’ 5) 4ms’
= Sk
: 5 2kg
= h\\\\\\\\\\
A yms
X 8 {\Wm‘ & g @
VIRV O . e e
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